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ZEH ES SUIZEEEE (20A) WA TEXRE AR (F3) o e
REBENZE | 2P1E | 2P2E | FiE
4 2 2 | YAG33062T YAG33062T9 21,900
sPockt | B 2 1 | YAG33071T YAG33071T9 23,000
30A 6 2 2 | YAG33082T YAG33082T9 24,800 320|347 83
\ s | 8 | 2 | 2 |vagastozr YAG33102T9 27,600
— . 4 2 2 | YAG35062T YAG35062T9 26,500
spoctt | 5 2 1 | YAG35071T YAG35071T9 27,600
50A [ 6 | 2 | 2 | YAG35082T YAG35082T9 29,500 320947 83
6 4 2 | YAG35102T YAG35102T9 32,700
4 2 2 | MAG33062T MAG33062T9 22,800
a “1 | spoctt | B 2 1 | MAG33071T MAG33071T9 23,900
,, . T { 30A [ 6 | 2 | 2 | MAG33082T MAG33082T9 25,700 3201947108
| 7 3 2 | MAG33102T MAG33102T9 28,500
— 4 2 2 | MAG35062T MAG35062T9 27,400
spoctt | B 2 1 | MAG35071T MAG35071T9 28,500
Rt 50A 6 2 2 | MAG35082T MAG35082T9 29,500 320947 108
7 3 2 | MAG35102T MAG35102T9 33,000
i 4T (mm)
&R 5 SIREREH(20A) LRI TEXRE 1EAE (TS (F3) PO N
REBENZE | 2P1E | 2P2E | T
3« | 3 2 | YAG33062T(1) YAG33062TF19 25,400
\ sPockt | B+ | 4 1 | YAG33071T(1) YAG33071TF19 27,000
: l 30A (4.0, 4 | 2 | YAG33082T(1) | YAG33082TF19 28,100 320|347 83
‘ 4| 6 2 | YAG33102T(1) YAG33102TF19 32,600
3.0 | 3 2 | YAG35062T(1) YAG35062TF19 30,000
spoctt | 3+ | 4 1 | YAG35071T(1) YAG35071TF19 31,600 S T
2 50A [ 4.0)| 4 2 | YAG35082T(1) YAG35082TF19 33,500
50| 5 2 | YAG35102T(1) YAG35102TF19 36,500
5 g 3« | 3 2 | MAG33062T(1) MAG33062TF19 26,300
: spoctt | Bvy | 4 1| MAG33071T(1) MAG33071TF19 27,900
----------- | 30A (4.)| 4 2 | MAG33082T(1) MAG33082TF19 29,000 320|347 1108
: 4| 6 2 | MAG33102T(1) MAG33102TF19 33,500
3| 2 2 | MAG35062T(1) MAG35062TF19 30,900
spoctt | Bvy | 4 1 | MAG35071T(1) MAG35071TF19 32,500 420|347 108
2 50A [ 4.0)| 4 2 | MAG35082T(1) MAG35082TF19 34,400
BEfsd 50| 5 2 | MAG35102T(1) MAG35102TF19 37,000
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- - S¥R2 3 (mm)
ERE( WA TENRE AR (F) e
JS—ILFHN 2P1E 20A BC-1NA BC1NA20 1,100 88.5(16.6(56.0
=7 2P2E 20A BC-2NA BC2NA20 1,560 88.5(16.6/56.0
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